1) Two vectors 
 INCLUDEPICTURE "http://session.masteringphysics.com/render?var=A_vec" \* MERGEFORMATINET 


and have magnitude [image: image2.png] = 2.92  and [image: image3.png]


 = 3.04 . Their vector product is [image: image4.png]AxB



= −5.03  [image: image5.png]


+ 1.92  [image: image6.png]


. What is the angle between [image: image7.png]


and [image: image8.png]B




2) Given two vectors [image: image9.png]


and [image: image10.png]B = 3.00i + 1.00j — 3.00k



. Obtain a unit vector perpendicular to these two vectors.

Express your answer as a unit vector [image: image11.png]


in the form [image: image12.png]


, [image: image13.png]


, [image: image14.png]


where the x, y, and z components.

